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Abstract 

Using the sources from the Islamic era and an analytic-descriptive research method, the 

author seeks to illuminate what Esfandiyar means by the term “Iranians” in the hemistich 

of “I shall give the realm to Iranians”, while complaining about his father, Goshtasb, to his 

mother. Many researchers of the Shahnameh (The Book of Kings) have raised this question 

whether Iran was not already in the hands of Iranians, so Esfandiyar would plan to take it 

back from his father and bring at their disposal? The research findings show that during the 

era of Kay Khosrow, Heroes considered Lohrasp, the grandfather of Esfandiyar, as an alien 

of ignoble origin,as he was a mandaeist (there are some inferences to this in The 

Shahnameh, while some other sources directly refer to his mandaeism), and he had close 

relations with such foreigners as Nebuchadnezzar II. In the hemistich quoted above, 

Esfandiyar intends to raise this subject to his father. Thus, “Iranians” in his words means 

Heroes of Sistan because the Parthians, of whom the dynasty of Zal and Gudarz are 

descendants, called their homeland and the surroundings “Iran-Shahr”. In the light of 

evidences, Sistan can be considered in connection with the expanse of Iranians (Iran-wīj) 
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151  -�.�$� ��:�� �� �'$.�ED � -��
�.L �|�b ((  ��� .K�� ) ����4��Back, 1978: 284  (-��$.L [

1392 :70 (55-���.K� [-�.$� �=�5 (.K�1388 :15  �2��� ���
$�� �$ � (   (-���
�.L (�5����
-�.$� �� �3J� �� !_$��� � .	x+ �=�	�D (-��
�.�  ��� .K��   (���K�) �����1389 :142 -143 ((

       �� ^�� �-�����G %����� ��� (;���.KT �-�����G !�� ���� !���� ���� =_�� �)��'� �$�� s�4�b
-D .� � ����43� -�.$� �� �3J� �� -D ���
	� .Z�b (-��
	�  � �|.�&� �� -D !�� ���  �� [����
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��.� �N�D �2�E.8 � -��
	� !� �2�E� !� �� ��$����� I;���3<8 (=�� 2	45   (�����.E) �:�	���
1393 :2 /139  .(  

�� (B�P8 !��D !� !_��� ��      !���8 !�� (��$������ � 6���{� �-������ �� B��8 -��� �� =�
�� �$�4���G \��l M	b�� �� �=�� �� B$���     �-�C	��3
 !�� ���$��� ��W$ :���  � ;����3<8

   -���D %B�$�4b M@��� !� (������ ���� �� ������ �-����� �=�� �� �$�� -D � B�� ��$�����
=��G �� (������ �2$� ��!��� ��� B$��� 2$� �� .���� !�E�$ ��� �5    �� -�	����.KT !�� ������

���.$�     ��� !�� B��� �$�W�� � ����
 %B$��� (B$��� .�$� .���� �E|.]� -�.�$� �� .��  ����
���.$� (.�$� =��C� � 9�l .5 �� �� ������G � 6��{�    .�H�����3� .�  

�4� ��$��� 65 �� �.E 2$� (�� ��	
 ����
� ���
$��     � ���4� �� ��$������ .�8� !�� �.	8
       �.�

 (2�4K� !�� �� ���G ����C� ���5�����
 !� ����Wb) 6	���� ������ %B��Wb .� ���3�

�� (��$������ ��	� � ������   ���5�.45 � \���l �� :�.4� !� ��]$ [����� �$��.���.E �� �� �
(���'�]� ��	
� BT�� � 2$�16 �� �9�K�� 6	����»-�	��.$� « �1�.&� �� ��»    -��	��.$� ���3� !�45

675%� ��« (»������ �-�	��.$� «   ) =����� � ��]�� !�� =����
 -�45 ��]$ [6	����1385 :54  :�	� (
!���� �� ��.
 2$� � ����� ?.@�   ��N�D �� (��$������ �2J� �� -�	��.$� �� ������ �$D !� ����

 .�
8 �� !�  OB�� B���� �2$� �-��.	
 (B�� ���� ������ �2$� ���5�  
�
 �=�.�  .6	����� -�	� �T�	� �� .�3	
 !� 6$�.8��� ��J� !� B�� !�
$�� 2J� 2$� �=.	8

���� �9�K�� �� -�.$� �#�� !� B�� �'�]� �T�	��$�  2	��.�� %�	�+�� �� ( �    �-����.� ��$ ��5
) %�����G %BJ� � ���.$�xvarənah-( �� ��� !� �K�D   �� �� ������� �.�	u �9�.� � 2	��.� � ���

�� ��� -�	������$����� �.	C]� �� �#�� 2$� .���    ���� !��� ���W��� � �3���J5 ���� ��  �
�4� !�E.�82$� �� ���� (-�W�
�
 �.	�7��� !��  ��� -��	�� �� ������ %BT�    2�$� .	��7��� .���P�8

�� ����� �� -D �� !� =.	C]� !� �� �#��  ����� ��J� � ��� !� -�	3J� B_	L�.3� �=�.� (��
���� ���	� ���K�� -D !� � ����   ��.�4)l � -��	��.$� �=����.��� �=�.� �����L m-�.$� � �3J�

   ��� -���:45 %\���+ !� -�	�����   (�T��	�) ����1387 :171 -208  (��45 [1397 :52 -56 [
 (=��CK� ��
��1397 :60 -61 (���G�Z� � �$�$�� [1397 :75.(  

    -�.�$� �#�� � 6	����� -�	������ �� =��4� !���5�� �� �� ��$����� .8� (B�P8 !��D .� ���
������ �9�K�� �������� !� 6	���� ���	��.$� %���$�� ��  � ��� (���  �#�� 6	�����» �	��.$�-� « ��
 �� ��$����� �2J�»������ �-�	��.$� «       �-���� �� ������� �-��	��.$� B��� 2���� !�� 6$������

       ��$ 6���{� � ^�� -��U �������H)K
 � ����
5 ��$������ � ;���3<8 �-�	E�.v� -�45 (;���3<8
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�4� .� �� �� -�$����8       � 6���{� ��� ��$������ � ;����3<8 %\"W�3� �� ��W$ s����� � �.	8
���G�4� =�� ���� �2$� !� -��D !� B�� 2	45 ���  2�$� !� B�� -�	� �� !�W� �� �_�� [��7�7�D

 ��� �	]Z (B�� ������ �-�	��.$� (-�	��.$� �� ��$����� %��&'� !� �� �.E   2�$� -D � �����
    .B��� �� ��� Y���'� �� � ;���3<8 �� !)%8 ( ���� �� ��$����� �-��J� M45 !� B�� 1�Z��

��� �)	T�    �� ��W$ !�� 6	��W�  ���.E .�$���  ��
 �� ~E��� ��J� �5��J� �N�$� �� !� ��
!)%8 -�	����� !� �� �5��� �.U !� B�� 2$� (;��.KT ( ��
 !� ;���3<8 �=�5»-��H���	� «  !��

�� �� �K�D � B�� !���P8�� ;���3<8 �.	C]� :����H�»�45 ����� �� -��H���	� :B�8 «  (�����.E)
1393 :2 /3.(       �.�U (���� !��E.8 -�	������ �� ��5��� M45 ;���3<8 ��$��.���.E �� !� -����

  �� F�
 (.�$� �=�� �� .�5� 9�N�� ������ (B�� ��� 9�N�� !� �� =��� �5��J� ��$����� �$��
   2��� �~���@� !�� �
�) ;����� -�U ������ �-�	��.$� %B�� �� ���� M45 (;���3<8  �=��5

�� IB���� �� F
 (�������� �7��� -��7�  (9.������ /���1385 :72 [Zātsparam, 1964: 92 (
���� ���� �=_�&�� !��P8 �� !� ���.�$� � B�� !�E.8 ��.l   !���8 !�� (����   !����P8 ����� =�

���2$� (2$�.���� [���   ��_	L��Z�� �	�5 (���� ������ �-�	��.$� (-�	��.$� �� ��$����� %��&'� !�
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��   ��� ����� %�:��� �� �� %B$�W� ��$����� (����   ��� � �T�l���� �� � �H.��7�   2J�� �� �=.�K�
�� �� -D .� � �$�8 ���L� � ��� ;���3<8 %�:� (�$D.� ������ -�U !� ���   (���� !�� �� �$��5
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  �����D �� -�.�	� �� ;���3<8 � �� I��$����� �$�8 ((�R��+ �2$�) B��   ���.$� �����5.E �=��5 �
�� B�� �� F
 !� B�� -D ��
 �� � �7��4�   �-�����H)K
) ����	��.$� !� �� ���� (�5����
 !� ���$

 �� ��&'� (2$�.���� [���� !���P8 ���� �5��� �� !� �H���.8��� (����
	�» -�	��.��$� «  �2J�� ��
-�	���
	� -�45 �$ ^�� �-����G (��$�����\��
 (�J$��� %����� �~��@� �.$� [���   �� 6���{� !��) �5

-�.$� �� �����.	
 � ��G �2	��.� (B�� -��D�� .K� 2�
b� �� � ����8   � ����'� �6	���'|�T�
!��8 !� -��
	� ��$�E�W� � �$�C$� (���D .�$�       ��7� ���D���$ s��'	l� !�� B��� ���� ��+� =�

-�.$� �� �	34�   ����.$� �2	��
<JH� %�������G ((���.$� M�K
) `$�   ��45 � B��� (��5-   !�� !���8
-�.$� �� �� ��G ��7� �	34� ��� ��� -���.� �� B�E�*� �=�.� (`$�    ;����.8 (�� ������ (����

   ��� ���� 9�.�� �=�.� �5��5��
 -�U �� -��
	� (B�� 6��{� %����� �� !� :	�    !�_��� :�	� .����
-�.$� (����� �� !� 6	��� !����� %\�_	��� �� !� =���) �	�$�� %��� ����� �� `$�   ���� !�� �����

�� !��8�� �� -D -��
	� �=�5�.� ��W$�:� �� !� =��� -�45 [B�� !�E.8 ��.l (���  [6	��	�
       -������ M��	�� �-���� �$�W�� � �����
 !� !_��� �� (��$����� �2J� �� -�	��.$� (2$�.����  �=��5

�� (!���5��        3<8 ( ���
 ��� Y���'� �� ��$������ !�� ����� -�$:��� !�� ����� �����  (;����
�� .�H���.8��� �5��� �y�� !� �� -��D ������ �5��G  
  

�7 AB�� 	�  
1.  MC	�� �� (�3���J5 %��� (����$�3G !� 6	��� !���� B|l�x ph      �$��$�D 6�5 � �����
 6�5 �� ��G

��  :�H������  
adam Xšayāršā…Dārayavahauš xšāyaθiyahyā puça Haxāmanišiya Pārsa Pārsahyā  puça 

Ariya Ariyaciça (Kent, 1953: 149-151):                                       

» �$��� �.

 ...����$�3G 2��$�$�D %��A� �� (�$�$�D (����
 �.

 (����
 (�3���J5 (���.«  
2.  �$����� ���  :�$�8  

vašnā Auramazdāha i(ya)m dipīmaiy ty(ām) adam akunavam patišam ariyā āha (ibid: 130):   
»��� �$�$�D �-��� !� (6���� 2� !� 2� M���� 2$� ��:����5� %B���G !�.«  

3. �� �	$�� 2K� ��	
� �-���� �� �� -�.$� �9�� %���� :	� ���.$� �.	u ������ !� B�� =��D��$ M�
$��  .����
�� \���.5 (�5��� !� �$�8�� �$�$�D �� ��G ����������G    (!���$�D �9��� !�� �$�� �� -���.��� .���

�� ��$ ��5 � -�.$� �-�	� ��) =���� y����� .���Eudemus of Rhodes    �-������ M�45 � -��x{� !� (
�� ����� ���.$�) y�T��W	� y�����$� � ���Diodorus  Siculus    ��W$ %����$�� �� �� B����� (
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�$�$�D ��]� �5�� �E|. 2�K� �� �� 9�� 2$� %���� :	� ����� ������ (�����$ ������ :{� .���  -���� 2$.��
�� -�3� Y)� �-�	� �� (�T�	�) �5�1397 :49 -50  .(  

4. �� B���� MC]� �� 6W$ ���
�� MC	�� �� s"�� :6	���G»     � -�.�$� %���� (������
�� (2�
$�:� ��� (2�
���� -��:$ �� ��A� !� -�.	��:«  

az mazdēzn baγ Šābuhr šāh aryān ud anaryān kē čihr až yazdān (Back, 1978: 284).      

5. �� �5��{� �2�� ��     ��7Cm�m.HE) B��� S7���8 � w����5 �9�� !� ���{� �� -�	��.$� M45 %��A� !� 6	���G
 (�8���1380 :83  :(  

juxt-ē(w) mard Hōšang ud zan Guzak nām uš Ērānagān aziš būd hēnd (Iranian Bundahišn, 

1978: 106).  

6. �� �	$�� �� ���'� �.�� 2$� (.+�]� �-�8��5�A
 �2J�  �����8 =.|W�� �� -�R��+ M3$��� ��K� .���
����.8 �=�5���� ���.
 �� (!3$��� 2$� !� ����   �	�
 ����
	�)5 �.&L �-��.3{� � =��K$ %�_�]�� �=�5

� �.&L) �� �� F
 � �	
� ��  Y	L�4��� � ��K�) B�� !�E�$ ��{� (B_	*	
� ����  (���
1394 :124 -
125  .(  

7. 2$� �������� �	���G �-�.� �$�	� !� r��.KT !�        ����<� �� ����E� 2�$� !�� B��8 ��$�� (����.�

�� ��$� :	� ����8 �-�$����-D .���) �_�H� ��� !� ��8Mār Ammō  �� �� ��	�� ��|)7C{� � ���� %�.8�� ((

z.� �� ���$� -���.G �-���.� ��  ��� -����.G !� ���� ����� � ���    �.�v �� �� -����.� � ��5��G
���� ���� ��� �� �_�H� (���-D � �.	8   ��� ���G !�� !��8      �	����G �.���.� �� �$��	� !�� (��$�8
�� :��
$�  

pas an Ammō pad dō rōzag āfrīn ēstād hēm pēš xwarxšēd  (Boyce, 1975: 41).    

�� (2J� 2$� %��	�� .� ��� ��$� r��.KT ����E� �� !� �	���G ��$�	� !� ��� -D .� -���  (����
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!3$��� �$ -�R��+ MG�� �� ����8 ��	� ������ Ir��.KT !�.B�� -���� X$�:� =�  
8. 2$� (������8 �l�� �^�l !��� ���C	�3
 \��l �-�$.� 9��� �� B$��� .5 6	�	C� !�  ������� �$�� (���

��.
 2$� !� c��
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����� � �5���	
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